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In which they were planted ten in a 780 n°2 — RO noab ' punn

OVERVIEW

»aX stated that if there were thirty trees planted in three X0 n°2 (ten trees to a N2
ax0)' and he ate the fruits of (only) ten different trees (spread out evenly
throughout the three 7X0 n2) it is a AP, Our NBOIN discusses what would be if the
trees were planted more densely (ten in less than a XD n°2), or more sparsely (ten
in more than a 1IX0 n°2).
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The 0"221 explained’ that less than a 92 for ten trees is too crowded and it is
like a forest (and not like a fruit orchard) and therefore it is not a Smmrm -

mooIn disagrees:
— PN NN Svmsﬂ \FFL 3 41’3‘\9)3\0:1 NI NNT NI PPN)

And this is not the view of n1901n; for it is evident in our X°310 that 1PDIX" 92N is

a valid sprm -
— Y %3 N0 'NNDODN NN NN NON SHyTanIN N2 o994

For X2n challenged the >¥79;71 (who maintain 7Pt *17 X2 PDIXY 7195K), but now
how will one acquire a row in an XnopoRN field —

mdoIn justifies the 2"aw"7 o:
— DYVNPN Y1 AWM NN DNIAN 13 PUNY 135299
And the X' 2w1 reconciles the 0"2w"7 'sp with the abovementioned X3 -
— NPIN NN DI 1NV 1790 By 9N TImYINND 95 YINY S9N pYT

' A X0 "2 is an area in which a 7xo of wheat is planted. It is an area of fifty by fifty nmx (or twenty-five hundred
square N1X; two hundred fifty square NX per tree).
2 yumn "7 2"awn.
* He did not make a 7p™m in a normal manner *w X *p1inTd. Therefore even if he ate the fruits of the trees for three
years he cannot keep the property (without a Tvw).
AT,
> See the 0"2wA there 12ox 1"7 that it is a case where there were more than ten N1%°X per 0" and he ate all the (thirty)
N2k for three consecutive years.
® The *y7971 maintained that P AR 1D 190K,
7 See n"aw there X7 1"7 that XnoooK is considered 791¥7, and nevertheless we learnt previously (on 2,13) that one
can make a 7p1 in a Xonook field, proving that 1°21¥7 775K is a fpm.
8 g'xan challenge was not answered; indicating that *v7171 were refuted and 1°91%7 799K is a apm, this contradicts the
view of the 2"2w" that more than ten trees per 0"2 is not a 7ip117; since 7"91¥7 is a ApRTMA.
? See footnote # 5.
' The a7 nAam amends this to read 5"yx7 instead of 2"¥X.
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For later, the X 1 discusses a case where he ‘ate’ all the trees; [therefore] even

though they are 1°27%9, nevertheless it is a P17 -
— ©»PNNY DXIIYN IR 9PYY BI1IYN YIN S9NY

For he ate the trees which will be uprooted and those that will remain -
— 13w 9932 ) NUN ININ 53 59IN 1INY NN YaN

However here where he does not ‘eat’ all the trees but rather only (three) [a

third of all the] trees each year, so for instance -
— Bapysh prmiyn mIYIN /) 113 U 591 PRD /13 INDIN )79 190 BN
If there were thirty-three trees in three ©"3, so there are amongst these thirty-

three trees, three trees to be uprooted -
— T NIV ININ DIINY N9 JIND NNIY NIY Y93 MITIN N/ DN NINWI)

And so when he ‘eats’ eleven trees each year, perhaps among those eleven
which he ‘ate’’ this year -
— Map3h P /) 1N 72 Jna Y)
There are two or three which are to be uprooted -
— %05pnnY P1mvn 1mNm 2 Sanow nav 93 )ya)
And it is necessary that he ‘eat’ each year a third of those trees that will
remain, and he did not, therefore here it is not a 7t if 19187 175K.

mooIn explores the case where it is sparse:
— AP2Y D3 ¥PIP NIP RYT NN NIYYY INRD N3N0 9912

And if it is more than a 9'"2 for ten trees; it is the view of n1»01n that he does

not acquire any ypap at all -
— PN M NYT XN ¥PIPN 593 RPYTT W97 DVPN Y19 N

And not like the interpretation of the 0"2w7 who maintains that if it is more
than a 0"2 for ten trees, he does not acquire the entire Y92 (meaning the excess) -

" The n"21 N3 amends this to read PN o1 Yo deleting the word 0IX.
12 Others amend this to read 'v"9w' (a third) instead of '3 (three).
> A 0"a can only handle ten trees; the extra trees will have to be uprooted in order not to stunt the growth of the
remaining ten trees.
'* Mmoo (seemingly) maintains that eating the fruits of trees Tp¥™2 0721 is not a proper api (for the owner does
not care about those trees since they will be uprooted anyway). The 0"2w1 however maintains that it is not a 7pm
because WK PINATI PN N7
"> Same amendment as in previous footnote # 12.
1 52 ruled that he must eat all the thirty trees in the three P years; ten trees every year. In this case where (there
are thirty-three trees and) he eats eleven trees each year, there is the possibility that in one of these years two or three
(from the eleven) trees which he ate, are those that will be uprooted, so he actually ate eight or nine (permanent)
tress; which is insufficient to make a valid 7pi. See “Thinking it over’ # 1.
"7 See yomn "7 "2wA,
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However it is a 7?11 for the amount of ¥y which is needed for the trees; this is
the view of the 0"awn. MmooIn however disagrees and maintains that he receives no ypap at all
even MRy Txw ona. "

SUMMARY

The 0"2w" maintains that if there are more than ten trees per 0"1 it is not a 7P,
MooIN maintains it is. The X"aw" differentiates whether he ate all the trees (it is a
1P1) or whether he ate some of them (it is not a 7p17). If there were less that ten
trees per 0"21 the 0"2w7 maintains he is 7P as per the need of the trees, while
M90IN maintains he is not 71 any YpIp at all.

THINKING IT OVER

1. According to the X"2w" why is it that it is necessary to consume (exactly) one
third of the trees each year;20 why would in not be a 7p11 if (for instance) one year
nine trees are consumed and the next year eleven are consumed?

2. Why is it that when the trees are dense, N800 maintains it is a 7P and the
0"2w" maintains it is not; and when the trees are sparse N1901N maintains there is no
a1 at all, while the 0"2awn grants him a partial 7pn?

' See footnote # 1, that each tree requires two-hundred-fifty square nVax.
" See “Thinking it over’ # 2.
%0 See footnote # 16.
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